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Part- III 

ACCOUNTANCYWITH COMPUTERIZED ACCOUNTING 

Maximum: 60 Scores 
Time : 2 Hours 

Cool off time: 15 Minutes 

General Instructions to Candidates : 

• There is a 'Cool off time' of 15 minutes in addition to the writing time of 2 hrs. 

• You are neither allowed to write your answers nor to discuss anything with 
others during the 'cool off time'. 

• Use the 'cool off time' to get familiar with questions and to plan your answers. 

• Read the questions carefully before answering. 

• All questions are compulsory and only internal choice is allowed. 

When you select a question, all the sub-questions must be answered from thE 

same question itself. 

• Calculations, figures and graphs should be shown in the answer sheet itself. 

• Malayalam version of the questions is also provided. 

• Give equations wherever necessary. 

e Electronic devices except nonprogrammable calculators are not allowed in the 
Examination Hall. 

m1 rom~ Clll6mcib: 
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• m1m(31n91s CYUQlCQJ®ll)1m o.JZ,06)Ql 15 m1m18 'cfb~cJb 63oo..d' 6)6)So' ~srtsomJlm1ce€JZ,o. ~·u 

OW'lcw(li'T'TI) <&.2JOBc'J60BcJbce6) ~®ll)ffio O(DI9Z,®O<&mo, alR~rumz,momJl ar@<RlCQJ o..flm1mcwo 

ffiS(O!O)OC8ffiO o.JJS1~. 

8 ~®ll)ffi60Bcf6 O{D 19 Z,®Z,<m®1 m awnJ C8.!2J OBc'J60BcJb ®BDJo.JZ,ffi<}d o ClJ omJl ce€l6mo. 

8 O{D ~8 C8.!2JOBc'J60BcJbce€JZ,o ~®ll)ffio n.Ej) 19 6 ®Gmo. 

• 63roz, <&.!2JOBc'Jmm.Jro ~COIIDffi6)Ql':?Z,®ocm 6)CD)ffi6)msz,C01IDz, cfbY'lmoam ~o.J <&.!2JOBc'J60B~o 

aml<&® <&.!2.lOBc'J mffilm1am m1crr) Cm6)<m 6)®ffi6)msz,<&ce€l6ITS®o6)'T). 

e cfb 6m cfr6)" cfb ~§ e.JZ, cfb cJJ , .2..flL ® 60B cJJ , l (/) o n.OZ,cfb cJJ , O{D rrn1 ru ~ COIID co <& o.J c;tj o1 am COIID 6) <m 

~6n5ocw1m1ce€JGmo. 

e ar@)ClJ<Rlc'Jal~ m.J.De.J(li'T'TI) 0l)QlClJOcfbc'J60BcJb. 6)cfb0SZ,c£T6)6mo. 

8 <&.!2J OBc'J60BcJb Ql eJ CQJO~COIID1 e.JZ,o ffiaiTJcfb 1 mJl §6Gn§. 

8 <&lo.J8l(I)0QlZ,cfbcJb 6).!2J~OffiOcfbOCOIID cfb0aiTJc£T6)Z,<&eJ806cfb00 . 631916)cfbCQJZ,~ 63ffi6 

~e.Jd3~<&lSOGm1cfu' ~o.Jcfbffi6mClJZ,o o.Jffi"lc:W:lOnDOglaffi ~o.J<&CQJJ(f)1c£T6)Z,ClJOcfO o.JOS1~. 

1 (P.T.O.) 
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1. Accounts that normally have debit 
balances are .......... . 

1. 
(1) 

cruoworosmwocWl CW6Y2llRU 6YlJOeJ<f/Jm) 

cfuO sm1c:OO@<;tj S.J,rrD ®'ClcOO'D6nS.J,cfucilJ 

a) Assets, expenses and. revenues 

b) Assets, expenses and owner's capital 

c) Assets, liabilities and owner's drawings 

d) Assets, owner's drawings and expenses 

2. The Trial Balance of a trader has 

the following information. 

a) Bankloan@ 12%, Rs. 10,000 

b) Interest paid Rs. 800 

Calculate the outstanding amount 

of interest on the bank loan. 

3. Subscription received in advance 

IS ............... . 

a) Income 

c) an asset 

-b) 

d) 

expense 

a liability . 

4. Interest on capital is .............. . 

a) expenditure for the business 

b) expenses for the business 

c) gain for the business 

d) loss of business 

5. Transactions relating to the 

qualitative aspect of busiiwss are 

not recorded because of the ........ .. 

a) money measurement concept 

b) entity concept 

c) accrual concept 

d) consistency principle 
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(1) 

(1) 

(1) 

(1) 

2 

2. 63(()2, OJ,)OnJ0(()1W.J,6)S LSWrliTl 6YlJOeJcfllcru1am 

®06)'9nJ ow 6 em oJlC'.J ro6l513cill ®1l s6ID31 cW1§6 61"@. 

a) Bank loan @ 12%, Rs. 10,000. 

b) Interest paid Rs. 800 

bnJO~ aeJOsm1cgeJcB6)' g)2ffi1 mamce,om~ 

6YlJOc001 nJeJl(J() cfuSfficOOOcOO.J,cfu. 

3. al.J,cfllcfu,§OOcWl eJ!51~ m.l6YlJum)'Lcfu1nJcilicf/J 

®.J,cfu: 

a) Income b) Expenses 

c) An asset d) A liability 

4. alJeJWffi nJeJ1(fl) 

........................ ~cfuJPn6. 

a) Expenditure for the business 

b) Expenses for the business 

c) Gain for the business 

d) Loss of business 

5. 6Yll1cru1mcm1am (I).J,smnJromow OJ(J()6l5J36)~ 

cfu.J,01-'?J6~ g)2SnJOS.J,cfucilJ 

Ol(()61J6)CJ:jS6CllTllXJ®1 ro1cOOom~ ce,orosmo. 

a) M.oney measurement concept 

b) Entity concept 

c) Accru~l concept 

d) Consistency p6nciple 
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(1) 

(1) 

(1) 

(1) 

(1) 
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6. Complete the series based on the 6. C6Xm1m1cOO,J,cm n.D1c@6lm roms1<mnom@<;tjS,J,miD1 

hint given : <2®Gm1 n.J~?il~d3Jrn1cOOJ,tS>. 

Hint : Intangible asset ---+ Goodwill nD1C'@' : Intangible asset ---+ Goodwill 

al F:c::~::ic;_~s asset---+ ................. a) Fictitious asset ---+ ................ . 

Lic;_~~ii s.sset--:-* ................. (1) b) Liquid asset---+ ................. (1) 

7. A series ::: operations in certain 

specific ;~·der to achieve the 

desire6 res·~lt in data processing is 

terr::c::c_ co,;:: ................. . 

a) :c~·cc:essor b) procedure 

c ::JKviS d) hardware (1) 

7. cw Ofp <lll n..1 O<m()1)16llB1 ~ rom m 6 <ll n..1 cW:116mi -
w Ql o CQJ n.n eJ o eJ !51 cOO 6'fYD ®1 m" Ill ru 6fl51 

LnJ<ll®~tS> lt6>QlmiD1eJ,l,~ 80<;tj<llOoS16lffi 

.. .. . . . . .. . . .. .. . 04)m1' n.IlcOOJ,<mJ,. 

a) processor 

c) DBMS 

b) procedure 

d) hardware (1) 

8. \Ybat will be the effect on the trial 8. 500 illJnJ nJeilCfll e.J@1~@ tS>JOoS:lv 6DJJ,c001~ 

mm1CQJomJl omcfA& @ill w® 6· n..1 @ciMl nJ el) m 
®?lcOO'D6flS1~ cwm118 @.!l.JW®J,. gQ® lSCQJ~ 

balance if Rs. 500 is received as 

interest and correctly entered in 

the cashbook, but posted to the 

debit side of Interest account? (1) 

9. A bill dated August 1, 2012 Is 

payable 2 months after date. If the 

due date is a public holiday, what 

\Vill be the date o£ maturity of the 

bill? (1) 

10. Name any two internal users of 

accounting information of your 

choice. 

11. "Computerized accounting is more 

helpful in decision making when 

compared to manual accounting.'' 

Give any two points favoring this 

(1) 

argument. (2) 

12. A firm decided to make provision 

for doubtful debts@ 10% on debtors 

for the year 2012-13. Name the 

relevant accounting principle 

applied here and explain. (2) 
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6W () e.Hfl> ()1)1 ~ Q{j) mn" gQ n.O ce," Rv ("()'@ sm" 

~ffi5Qc002,<:6>? ( 1) 

9. ("()'@CD~ 1, 2012-m 2 Ql0()1)o <:6>Je.JOOJW1 

CQ)6~ 63ill6 m11~6lcffl <U.J~ ~<U.JR 63ill6 @n.JO<OJJ, 

rom OJ W1 B1 m Ql 0 @ 6ffi ffi> 1 ffi'O , mfl &'J 1@ C'fA 
tS>OeJJOJWl B10J()1)o ntj)cmOmJllll1c002,o? 

10. nffi 6l ®sa, 1 eJ 6 o 2 ~®Ill C'fA6m (OO CQ) JIll ()1) cJb ()1)" 

(1) 

630nil ®?lcOO'D61'@16llB1@<1Jl <lln.JcO n{j)'96®,l,d3J. ( 1) 

11. "mfl()1)1mcw1con ®"lm6Qlom6llBcJI> 

6l6lt6>6lcOOO~Ocfb tS>onJ.,\J§6l@0()1) CUl 

rom cOO'D61'@16llB ow Ql omJ ~ romc00-u 6flS16llB1-

@mcOOocJI> ()1)n.DOCQJ&bQlOOJ2,<m®.'' 

~'D OJOB6lmiD. Wlffi,J,&bJe.Jl.q,f 2 

LnJmJ<OJorum&bcJI> m~&b,l,&b. (2) 

· 12. 2012-13 ru&n91<Jl(611i)<%)' cw6W"<llR&c'ru1m~ 

<lllll ~ 1 0% <T\) 0 (}() CQ) &bill Q) 0 CQ) 

(\.JJ6W"<llR&()1)1m6~ @LnJOru1n91® 

&b6fficOOOcOOOcfb ®lill,J,QlOm1cOO,l,cm,l,. 

~oJl@S lnJ®1nJOB1cOO,J,ffi) WlcOO'Dffi5166Y:l" 

®®Jo Clffi@®rfrl oJl Cf0Bl&bm1c{16j6&3:J. ( 2) 

3 (P.T.O.) 



13. F:rom the following information, 13. ®06)'9 n..JOCQJ6<m o../l(lJill6nB§_1aiTJ m1ml6o 
ascertain the amount of debtors to 6WOeJoocru" oWf116l<¥J ®OCTDR" 6l6lCTD(U)1tW 
be posted in the asset side of the .~ (() 6)J 6lc;tj s 6 ~ (O[(j) 6l1'S (U)61lJ~f1itCTD16l<¥J ®,?,em 

Balance Sheet. (2) em6lEinS(O[(j)6cfu. 

Given in Trial Balance 
Bad debts Rs. 700 

Debtors Rs. 7,000 

Provision for doubtful debts Rs. 500 

Given in adjustments : 

a) Provide 5% for further bad debts. 

b) Create provision for doubtful debts @ 10% on debtors. 

c) Provision for discount on debtors is to be created@ 10%. 

14. Unni purchased goods for Rs. 9,818 

and the trader allowed a discount 

of Rs. 18 at the time of purchase. 

a) Identify the type of discount. 

b) Mention the other types of 

discounts available and 

differentiate them with the one 

14. ~Gm1 63<ll6 OJJonJo<ll1mflam m1nn" 9,818 
<ll ~ nJ o00" cru ow m GnB cJO OJ o GnB1 w rE c;S o cin 
®OCQJOcfO 18 <llJnJ cm1':9loJ ®llffi2,0JB1o002,ml6. 

a) O@®v ((j)(O(O[(j)1eJ2,~ cm1'910J06ln16l®mlu 

®1co1-8,Jo1wz,em? 

b) <i01am nJ06lmm®1!W m1m) oJl@lemOlomfl 

0@ 6l ® 133:> 1 eJZ, o ca;1 '91 OJ2, em §.6 <ll 611'5 o 04) em" 

cru J.211 c;tj1 o00 6 em w 6 o, ~OJ ® am1 !W 
04) GnB16l m CQ) 0 6f()v QJJ ®J mill Ql 0 cfu6 em®" 
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(2) 

stated above. (3) 
OB)emz,o 04)'96®6em. ( 3) 

15. From the given particulars, 

ascertain the amount to be credited · 

to the Income and Expenditure · 

aecount for the year ending 2012. (4) 

15. ®06l'9 ®eml<llloOOJ,em ~snJOS6emglco'6 m1em6o 
cruGnJcru"Lem1nJ"o31oo ~m(O[(j)1am OB)L® ®6em 
2 0 12 ru ib o31 6l (O[(j) OJ co ru" .211 eJ ru" 

®O o00 'D 611'51 !W <ll co 6ll 6l c;d s 6 (O[(j) 6ffi 6l 01 em" 

em6ffioOOOo006cm. 

Subscription received during the year 

Subscription outstanding on 01-01-2012 

Rs. 18,000 

Rs. 1,000 

Subscription received in advance on 01-01-2012 Rs. 500 

Subscription received in advance on 31-12-2012 Rs. 300 

Subscription outstanding on 31-12-2012 Rs. 200 

16. Prasad kept his books under the 16. cru1oCJJ"ciO OB)OOLS1 cru1cru"Ro LnJemO<llo 

single entry system. His position as nJ6cru"®cmGnBciO CTDJdhl:flo006em LnJCTDOB16l<¥J 

on 31-12-2012 was as follows. 31-12-2012 6leJ 6lnJocru1o31oo ®06l'9 
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Rs. 

Cash 7,000 

Bank 

Stock 

Sundry debtors 

Furniture 

Sundry creditors 

16,000 

11,000 

45,000 

6,000 

14,000 

4 

® em1 co1 o00 6 em 6· 
Rs. 

Cash 7,000 

Bank 16,000 

Stock 11.000 

Sundry debtors 45,000 

Furniture 6,000 

Sundry creditors 14,000 

(4) 



His capital account shows a credit 

balance of. Rs. 54,000 as . on 

01-01-2012. He introduced an 
additional capital of Rs. 5,000 

during the financial year. He 
withdrew Rs. 10,000 for personal 

purpose. Ascertain his profit for the 

year ended 31-12-2012. (5) 

17. Star Ltd. purchased a machinery 
for Rs. 2,90,000 and spent Rs. 10,000 
on its installation on 1st April, 2008. 
After using it for 3 years, it was sold 
for Rs. 2,00,000 on March 31, 2011. 
Depreciation is to be provided at · 
10% on the fixed. installment 
method. 

a) Pass a journal entry for 
recording the purchase of 
machinery. (1) 

b) Find the amount of profit/loss on 
sale of machinery assuming that 
the accounting year closes on 
31"t March every year. (4) 

18. From the following transactions, 
identify the type of error. 

a) Wages paid for making 
additions to machinery Rs. 100 
was debited to wages account. 

b) Sales account was given an 
excess credit by Rs. 1,600 and at 
the same time, rent account was 
totalled short by Rs. 1,600. 

c) A credit purchase of Rs. 10,000 
from Manju Agencies was not 
recorded at all. 

d) A credit sale of Rs. 5,000 was 
entered in the sales book as 
Rs. 50,000. 
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e) Purchase of Rs. 200 from Lexi 
Traders was not recorded in the 
purchases day book. (5) 

5 

~m6ruro1 01, 2012 co'O ffil()CQJ0~61S Q)JeJWm 

ffil()c00"06l'l'S1co'O 54,000 <1lJnJW661S lc&.,CW1Ru 

6Y2J 0 eJ em mr cfu 0 Gm1 cOO 6 on 6 6l'l'S u. @'@ 
cruocrucom1ce, rucon.S:lo 5, 000 <1lJnJ cfuJS6®co'O 
alJeJWmQ)10c:006cfuW6o 10,000 <1lJnJ 
ClJ,). cB®1 nJ ro Q) ow @'@ ru Cf1l,; (1)®1 m o w1 
nJ1 em ru eJ1 cOO 6 ce, (?! 6 0 6) .!lJ CQ)u ® 6. 

31-12-2 012 - 61eJ ®bCQJ0~661S eJ O!So 
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cfu6ffic000c006@. ( 5) 

17. o@LoJlco'O 01, 2008 co7J cruuROCO eJ1m1RCWu . 
2,90,000 ffiJnJc:OOU 63(!lJ, 61mnS:ilmo1 

ClJ06ID36cfuW6o 10,000 <1lJnJ @?)®161~ 

g;Qem~(XeJn.S:lm .!l.ileJru<#lc:OO.!,cfuW.!,o 61.!l.JW®.!,. 
3 ClJCOn.S:lo ~nJ(XCQJO(f)l8,J®1m6 ~Cf1ln.S:lo 2011 
Q)OCO_g,f 31mu g;Q'D 6JQ)n.S11mo1 2,00,000 

<1lJnJcOOu oJlR6· n.01cfu'cruru) gQem~0006JQ)~ 
roi®1Cl2!m6crurolq,f1 0% (X®CQJUQ)Offio @'@6fl)u 

cfu6ffic000c006on®. 
a) 6JQ)n91Jmo1 ruo6ID31W®1m6~ (X~COGmco'O 

OB)o'OLS1 mco'Oce,6ce,· ( 1) 
b) 6JQ)n.S11mo1 oJlRfiicJ:JOdo ~6l'l'SOCQJ eJOIS I 

mcid'so cfuGmc:OOOc:006ce,· 0UDOnJm(1)®161o1l 
@?)cOO "0 6l'l'S16ID3u ru co nS1 0 

ffil()ClJcruom1c:OOt,<m® Q)OCO_g,J 31 mo61Tl. ( 4) 
18. ®on1 ro1c:OO.!,<m 6161cfuQ)OR6lil3gl co'O crll err) o@® 

®aJ(1)®1eJt,~ 61®61R('Tl') ®1rolg,jo1W6cfu. ' 
a) 6JQ)rrl11mo1Wt,61S cfuJ§1(X.!l.JCOc:OOeJ1m6 

mco'Oce,1w (XClJ®mo, 100 ffiJnJ, (XClJ®m 

®llc:OO"' 6l'l'S1 co'O cwmJl 86 61.!l.l m! ®6. 
b) 6) ()l) mil co'Om) @?) c00"06l'l'S1 co'O 1 ' 6 0 0 ffiJnJ 

ffil()W1cfuo LcfuCW18 mco'Oce,1. ®ll(X® ffi)Q)CQ)o 
6) 0 o1lu @()cOO "0 6l'l'S16J o1l @'@ 6) cB;, ® 6 cfu 

1, 600 <1lJnJ cfu2,0.s,l6 ce,o6TDlc:OO.!,<m6. 
c) Q)cro~6 o@~emcruicru1co'O m1on~ Lcfucw18 

nJCO(X-8,!, ()l)u 10 j 000 ffiJnJ 

(X (06lJ 61c;]j 56 (1)®1 mil~ . 
d) 5,000 <nJnJW661S lcfuCW1A 61crumilco7Jm) 

61 cru w1 co7J cru" 6ru 6 cOO 1 co'O 
M 6lJ 61c;]j 52,(1)®1 CQJ (Xc;]j 0 cJ0 50,0 0 0 
<llJnJWOmil Q)001. 

e) 61eJcfu'cru1 (XLS(XCWCOcru1co'O m1<mc?,o 200 
ffiJnJc00u ()l)0Wffi6G)'300 ClJ06ID31CQJ®u 
nJ CO (X -8,!, ()l)u (X (W 6UJ6 cOO 1 co7J 

(X(l)6lJ61c;]jS6(1)®0dQ oJl§J,(XnJOmil. ( 5) 

(P.T.O.) 



19. On pt January, 2012, Rajan sold 

goods to Suresh for Rs. 25.000 and 

drew upon him a Bill of exchange 

for 2 months. Suresh accepted the 

bill and returned it to Rajan. He 

then endorsed the bill to Manoj, 

who discounted the bill v>'ith the 

bank on 15-01-2012 for cash 

Rs. 24,750. The bill was 

dishonoured on the due date. Show 

the journal entries in the books of 

Rajan and Suresh. 

19. g',lm2,0J<ll1 01, 2012 am cccg;4 25,000 

<llJo.JCQJ2,6lS mxxDm6ID3cill cru61]ccc.::· :---:~ o.JlR6· 

@'@) OJ Gfu CQJ1 am rom I] <3 n.O 0 2 ::_ 2 :r J 0 

Gfu0eJOOJW1CQJ6~ @<lll, ru1m1QlCQJ 6':... -:'3 

~c3 dM1c66l2,cfuCQJ2,o 6l.!l.JaV®2,. gQ'O mflrn'O 

Qll] (');::; g:;; • :") d O{j) db I] CUJ 0 (0 ffi)u 6).!l.J CQ)u {lj)u 

m am ce:,; ceo WJ ~ ::: 2 4 , 7 5 0 (l) J o.J c66lu 6YlJ1 ti:( 

6YlJ08a:J1rn'O c;' ~w !I:I]mOg',lu cw1cruucfu'06mlu 

6l.!l.J Sill6 em 6. ce:,::; =- : C':... d c66lu ((\) 6 (]l <llns:r mfl am 

m1 (l) cru14J 6. (8"@) (L :::c" 2 8 82) (]l g',l (0 6lTl am 

nq)®ls1ce,ci0 <ll0~6l~CW6o '~~C3 :0<"'~6l~CQJ2,o 
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(6) 
o.J6m.l®ce:,mm1 am (]l(l)6lJ 6l<J:l s 6 co:c:; ce:,. ( 6 ) 

20. On January 31, 2013, the passbook 

of Miss. Reshmi showed a credit 

balance of Rs. 15,000. On verifying 

the passbook with the cashbook, 

the following were observed : 

20. g',lmc?,OJ<ll1 31, 2013 am 11l1m.l. !C~~w.::·:0~6lS 

o.JOm.l 6'r)J2,c66J1am _15,000 <llJo.JCQJ2,6lS lcfuC...:· ;:f 

6YlJ::JeJ<fbm.) cfu06YTl1c66l2,Cffi2,61'@'. o.JOm.l 6'1LJJ,c&€'), 

cfu,)OnS1'6YlJ2,c00611lOmJl @®ml, <llmOc66l1CW<ll<J:jOci6 

®06l<? o.J OCQJ c~cm cfuO<lliJ6ID3 ciO cfu6l6ml mml 

a) Cheques issued but not presented till January 31,. 2013 Rs. 3,000. 

b) Cheques deposited but not cleared Rs. 4,500. 

c) Bank charges not seen in the cashbook Rs. 100. 

d) Insurance premium paid by the bank Rs. 300. 

i) Ascertain the cashbook balance i) 2013 g',lmc~ruro1 31 6l eJ cfu,)OoSJ 6YlJc?,cf}6) 

as on the above date. (4) 6YlJOeJ <fbm.) nq) l ®6JCW('(T") cfu6l6ml®m l,cfu. 

ii) Give any two causes of ii) m6ce,~1 am o.J oGmiD1 ro1 c66l6cm 

differences between a cashbook mo6leJ~I1l~06l® cfu,)OnS1'6YlJJ,c66l6o, o.JOm.l 

and a passbook other than the 6YlJJ,c66lJ,o ®am1eJ~ l2l<llR6l®ffi:J1eJJ,o roEi'® 

four stated above. (2) OJ,)®,)Ocrumm1m6~ cfuO<ll6YTlo mam.cfuJ,cfu. 
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(4) 

(2) 



:2 ~--\. L·om the following Trial Balance, 

prepare the Trading and Profit and 

Loss account for the year ended 31"t 

December, 2012 and a Balance 

Sheet as on that date considering 

the adjustments given. (1 0) 

21A.®06)lf' 6)c£b0SJ,f6'®1~ lSWam mJoe.Jo'6cru1afo 

m1rrn2,o, ®rrn1§6§§. ®C~cur~gg66)al<V?6<.fuciD 

<.fuJSl CLJal1W6m1.gd2,6)c£b06mJ', 2012 QJ)1CTOo6YlJffi 

31 m ®11 OJ cruom1 c%) J,ffil OJ iD n916)(6)(j) eJ C)@ 

m n91" S em 6mc;%) 6 o ell@ B1 OJ ml Gl (O)(j)c%) 2,~ 

6ruOe.Jdl>m5' nSf!R2,o ®~000c%)2,<.fu. 

Trial Balance of Senthil Traders as on 31-12-2012 

Capital 40,000 

Sales 50,000 

Creditors 8,500 

Returns ·1,500 1 
Purchases 40,000 

Salaries 4,000 

Rent 2,000 

Insurance 500 

Drawings 3,000 

Machinery 20,000 

Cash in hand 6,000 

Stock 5,300 

Debtors 3,000 

Trade expenses 2,500 

Carriage inwards 700 

Bad debts 300 

Furniture 12,700 

1,00,000 1,00,000 

Adjustments required : 

a) Closing stock was valued at Rs. 18,0DO. 

b) Insurance prepaid Rs. 200._ 

c) Salary outstanding Rs. 3,000. 

d) Rs. 500 written off as further bad debts. 

e) Provide 10% on debtors against bad and doubtful debts. 

f) :qepreciate furniture @ 10%. 
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OR 
21B.Given below is the Receipts 

and Payments account of Riders 

Club for the yea_r ending 31st 

December, 2012, which was formed 

OR 

21B.6)6)0<8<UJrom) oo6l1/16)~ 2012 <UJ1cruo6ruro 31 

mu ®ll OJ cru 0 m1 d1U) 6 em OJ ro oS:I 6) (QfQ) OJ aJ OJ u 

_Q_n eJ OJU cfu 6ffi c£16) 0 smu (6) 0 6) '9 

6)cfu0 S 6 (Qf0)1 m1 c£16) 6 em mr. <@; 61]l aJ 4 nJl cB:. CD!-±~ ®u 

550 

on January, 2012. (10) 2012 mm60Jm1CQJ1eJo61Tl. . (10) 

Receipts and Payments account for the year ending 31-12-2012 

Receipts Rs. 

Subscription 5,200 

Donation 1,600 

Life membership fees 2,000 

Legacy 5,000 

Interest 160 

13,960 

Income and 

expenditure account· of the . club for 

the year ended 3tst December, 2012 

and its Balance Sheet as on that 

date, after taking into account the 

following information. 

Payments Rs. 

Salaries 3,500 

Scholarship 1,480 

General expenses 1,960 

Printing and stationery 340 

Furniture 2,500 

Investments 2,400 

Balance c/d 1,780 

13,960 

· ®06)'9 GlcfuOS2,{lf((j)1§6~ nJlOJCDGllBcJD cfuJS1 

n.JaJ1Cn6ffi1~66)c£h()6n'Su <@36l1\1@c(q 2012 

<UJ1cruo6D.Jm 31mu ®llOJcruom1c£16)6em 

omcfu'mr6)n.Jcm<Ul1-8.Jm ®l)c£16)"06n'S6o 6D.JoeJcmm3' 

nS:flR6o ®<B:J000d]U)6cfu. 

a) Subscriptions outstanding as on 31-12c2012, Rs. 300. 

b) Salaries outstanding, Rs. 330. 

c) 5% interest has been accrued on investments for 6 months. 

d) Legacy and life membership fees are to be capitalized. 

e) Charge depreciation on furniture@ 10% p.a. 

K-43 8 1,18,500 
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